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A ™
HY: AMBEER 2 (Z DY
ohelr FRIHEEO 2
SA - B ORI(B1) - HIRAY - BES A
02 ML 45,600 34,200
0 &AIEENLI 200,000& x 19123 45,600
n=kzg22g 27,705 25,968
101 eI H| 3,69 3,518
M IIRIMZ2Z2XSE 3,69 3,518
0 SKlgl2 LAl 2l
76,9603 * 1B 42U« 12F 3,695
201 B2 AY| 24,010 22,450
01 At 22|l 5,500 5,500
0 Yer2 o) 5,500
0 =X5|Y APE 7Y
400,000& 128 4,800
0 YA EA B4
70,0003 *10Z *13] 700
02 32| 13,010 11,450
03322 % HA 13,010
o AHSZHIAIAE
150,000& x 123 1,800
o AgotMze| 24
170,000& 128 2,040
o MJ|etdate| 84
100,000& *12& 1,200
o &MIIE 630,000« 12& 7,560
o Mot=ER23 30,000+ 12& 360
o ABHOHEE S| 50,0002 *13] 50
03 A2 G| 5,500 5,500
0 XMu=sEXs2 2stas K 5,500
& (eafRsla] 143,760 139,360
=&AL 120,860 120,860 0
"2 FR=AY 120,860 120,860 0
401 A& B2 20HY| 120,860 120,860 0
01 Al&HI 120,000 120,000 0
0 ATE FU=SAALY 60,000
0 LHE2| A2 = A 20,000
0 20lel 472 = A 20,000
0 2t=c| seIIEAl A 20,000
03 Al 2 CHYI 860 860
0 F0I=JAAY AlIE 860
HAMH AL 22,900 18,500
S5 A HHISA 2,000 2,000
401 A& HILS0HY| 2,000 2,000
01 AlEHI 2,000 2,000
0 SS2XEHIZ2AM 2,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AHZE £0| Il= ots =4 9,500 7,500 2,000
101 @124H| 6,000 6,000 0
M ORNZZE2NSE S 6,000 6,000 0
0 AFAIE 20| Ll= ol ¢ 22| 6,000
206 M=l 3,500 1,500 2,000
01 M=4l 3,500 1,500 2,000
0 AHAIZ 20| Il= ot =8 ME7E 3,500
SSeHEd 72l 8,400 6,000 2,400
201 2= 8,400 6,000 2,400
01 At22t2l] 8,400 6,000 2,400
0 SEHEA X2 2257
700,000& 1290 2 8,400
2R 2elArd 3,000 3,000
401 AIZHIZ S0 3,000 3,000
01 Al&H| 3,000 3,000
0 E2RXZeIAME 3,000
Y 2HAH(Z L) 51,240 40,540 10,700
JlE2dsl(&ne) 51,240 40,540 10,700
JlEZe(dud) 51,240 40,540 10,700
201 er23 | 40,280 29,580 10,700
01 At2teltl 40,280 29,580 10,700
0 LEt=2HI(SS) 1,000,000 19 19,000
OrEA=EE 15,0002 x6F* 122 1,080
0 SHI(3S) 8,0002 x 192 %100 15,200
0 t2AH S5 5,000
203 HR=H] 10,960 10,960
01 J|2=2gdR=a] 6,600 6,600
osd 6,600
02 3t 2F&| 760 760 0
0 3t 40,0002 19 760
MU A2 LIFLI 3,600 3,600 0
0 2N29g 300,000 x 1042+ 123 3,600




